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Multiple Choices:
In a small organization, which of the following is NOT likely to be true? (A) Relationships are more likely to be informal.
(B) The design of the organization is likely to be less structured and complex. (C) Planning is not likely to be an
orchestrated ritual. (D) Workers are likely to be observed by computerized monitoring systems.
The culture of an organization is analégous to the of an individual. (A) skills (B) ability (C) personality (D)
motivation
Which of the following is NOT a typical attempt by management to provide flexibility in the workplace? (A) on-site day
care (B) job sharing (C) telecommuting (D) benefits for part-time employees
Mid-level managers in a country with high power distance are than managers from a low power distance
country. (A) less likely to make safe, conservative decisions (B) more likely to disagree with their leaders' decisions (C)

less likely to make risky decisions (D) more likely to make risky decisions

The more uncertain a situation is, the more plans must be. (A) short term (B) unspecific (C) long term (D)
flexible
All of the following are part of the process of organizational design EXCEPT . (A) determining goals for the

organization (B) determining rules for employee behavior (C) deciding how specialized jobs should be (D) determining
the level at which decisions are made
Eric is offered a chance to help direct the efforts of some employees assigned to his work group. This is a chance for Eric
to experience . (A) authority (B) responsibility (C) functional structure (D) divisional structure
Which of the following would be most likely to result in a manager recommending counseling for an employee? (A) The
employee has not been adequately trained. (B) The employee does not have the skills required for the job. (C) The
employee isn't putting out enough effort. (D) The employee and the job are mismatched.
Keena's company needs to increase the diversity of its workforce. Which choice might this requirement rule out? (A)
advertising (B) school placement (C) private employment agency (D) employee referral
Which of the following is an external force that would cause a company to make an organizational change? (A) a
widening span of control for managers (B) a booming economy (C) the naming of a new CEO (D) an organization-wide
restructuring

refers to the ability to combine ideas in a unique way or to make unusual associations between ideas. (A) Open-
minded thinking (B) Innovation (C) Imagination (D) Creativity
Managers who want creative and innovative employees should . (A) stress that there is only one path to a goal
(B) not place much emphasis on goals (C) focus on ends rather than means (D) focus on means rather than ends
Attribution theory is primarily concerned with explaining . (A) the perceptions of others (B) one's own
perceptions (C) the behavior of others (D) the behavior of groups
Which of the following is NOT a characteristic of Gen Y workers? (A) goal oriented (B) little interaction with colleagues .
(C) seek out creative challenges (D) high expectations
In a global team, team members should guard against , which can be a source of discord and resentment among
team members. (A) diversity (B) ambiguity (C) stereotyping (D) risk
This is one thing that global teams usually fail to attain. (A) team goals (B) consensus (C) organizational goals (D) team

cohesiveness
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Theory Y assumes that people inherently . (A) want to control their own destiny (B) are driven by fear (C) don't

trust one another (D) are unhappy

Expectancy theory and goal-setting theory align well with American workers because American culture places a strong
emphasis on . (A) collectivism and achievement (B) low power distance and high uncertainty avoidance (C)
individualism and high power distance (D) achievement and individualism

Path-goal theory assumes that environmental factors such as can change a leadership situation. (A) skills and
abilities of followers (B) personal work experience of followers (C) work group structure of followers (D) locus of control
of followers

Which of the following is NOT a reason that the importance of trust has increased in today's business climate? (A) Only
60 percent of U.S. employees trust their leaders. (B) Downsizing has eroded the faith that workers have in their leaders. (C)
Job performance is related to trust. (D) Job satisfaction is related to trust.

The average listener can understand language at a rate that is the average speaker can speak. (A) a little bit
slower than (B) the same rate that (C) much faster than (D) much slower than

How does jumping to conclusions affect the communication process? (A) Jumping to a conclusion causes the listener to
feel shortchanged because he or she is not hearing the entire message. (B) Jumping to a conclusion causes the speaker to
feel nervous because he or she feels obligated to expand on his or her basic message. (C) Jumping to a conclusion causes
the listener to stop listening because he or she has already formed a view of what the speaker is attempting to express. (D)
Jumping to a conclusion causes the speaker to stop speaking because he or she sees no reason to carry on to a listener who
already knows what is being said.

Which kind of control takes place while the actual work is carried out? (A) reverse (B) feedforward (C) concurrent (D)
feedback

When comparing Mexico to Scotland, you would expect Scottish workers to have . (A) lower productivity and
lower labor cost per worker (B) lower productivity but higher labor cost per worker (C) greater productivity and higher
labor cost per worker (D) greater productivity but lower labor cost per worker

It is easier to see the transformation process at work in manufacturing organizations than in service organizations because
manufacturing organizations . (A) produce physical goods (B) turn inputs into outputs (C) turn inputs into
physical and nonphysical products (D) produce goods and services
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Translate the following sentence into Chinese:

a. The key difference between economic systems is the way in which they manage the factors of
production. Different types of economic systems manage the factors of production in different ways.
(8%)

b. Management refers to the process of getting activities completed efficiently and effectively with and
through other people. (7%)

c. Exchange rate fluctuation can have an important impact on balance of trade. (5%)






